
 ENEA Wood Four-Leg Stool CS Part Instructions

Page 1 of 6
1077389 Rev A

BAR HEIGHT

COUNTER HEIGHT

5mm

4mm

17mm

If you have a problem, question, or request, call
your local dealer, or Coalesse at 1.800.627.6770
Or visit our website: www.coalesse.com
© 2017 Coalesse 
San Francisco, California U.S.A. 

Printed in U.S.A.



Page 2 of 6
1077389 Rev A

Upholstered & Polypropylene Seat Replacement

1

2

3

M6x12
(12mm)

Torque
Couple
Esforço de torção
Par de torsión

31 In-lbs (3.5 Nm)

4

4x



Page 3 of 6
1077389 Rev A

Wood Seat Replacement

1

2

M6x20
(20mm)

Torque
Couple
Esforço de torção
Par de torsión

31 In-lbs (3.5 Nm)
4x

3

4

4x

5



Page 4 of 6
1077389 Rev A

Wood Seat Replacement

6

8

7

9

M6x20
(20mm)

Torque
Couple
Esforço de torção
Par de torsión

31 In-lbs (3.5 Nm)
4x



Page 5 of 6
1077389 Rev A

Footring Replacement

M6x30
(30mm)

Torque
Couple
Esforço de torção
Par de torsión

60 In-lbs (6.8 Nm)
4x

1

2 4

3

5

6

X



Page 6 of 6
1077389 Rev A

Plastic & Felt Glide Replacement

1

3

2


	1077389 1
	1077389 2
	1077389 3
	1077389 4
	1077389 5
	1077389 6

